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REEERE 11 407 784
Hh fE W E 5K 32,708 19,390
J?EJ%Z RIH - me MIENKIE 12 131,940 189,720
A Ug [ 7 5K 1,557 1,544
JE U B4 B A 3,310 3,310
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B 16,749 18,861
JE B PT1S L 96,969 63,610
BE — —F A5 H 15 740,329 917,655
FEA DS AR R R IE 84,287 141,949
1,512,386 1,589,531
L 1) o 2,670,099 2,530,904
7,743,844 7,111,588
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N 16 58,267 54,844
G 4,813,821 4,299,577
KRFIRERFE ARG ERE 4,872,088 4,354,421
DY R E 579,876 760,679
R 25 5,451,964 5,115,100
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FEAS D SR 3R FIE 65,914 70,376
BE — —F&EH 15 1,701,207 1,512,316
HAM e I8 — —F1& 55 16,986 16,582
ERET IR 507,773 397,214
2,291,880 1,996,488
7,743,844 7,111,588
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